Lesson 25

Read Chapter 19 and 20

| nverse Xrigoenomedric Junchions

Sinusoidal functions
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Solve sin(x) = 0.7
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How to solve sin(x) = ¢

» x1 = arcsin(c) This is the principal solution. —3 < x; < 7
> All values x1 + 2wk, k = 0, £1, £2,£3,--- are also solutions.
» xo =1 — x1. Thisis the symmetg solution. g < xp < 37”
» All values xo + 27k kK =0,£1,£2,+£3,--- are also solutions.
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How to solve cos(x) = ¢ Ov C o> (oy X) = Qrcwmsc

Xy, = Kr(eC
J

» x; = arccos(c) This is the principal solution. 0 < x; <
» All values x1 + 27rk)k = 0,£1,+2,43,--- are also solutions.
» xo = —=x7. Thisis the symmetry solution. —m < x», <0
» All values xo + 27k kK =0,£1,£2,+£3,--- are also solutions.
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How to solve agtan (x)=c

~ 7 ™
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» x1 = arctan(c) This is the principal solution. —% < x; < 3

» All values xq +\73k k=0,4£1,4£2,£3,--- are also solutions.

2023-11-29 11:27:41 12/15 lesson25 (12/15)



Sin\).&ai&.o.? éunC“‘:ons
a:Si;-(x)
§(x)¥= A Sin (Lg_r_ (x-<) ) + D e
A, 629 —_
|)h scake °§ B
2
D) Skigt cight ¢ vnits (i C s posidia)
legt JC] varks (1§ € & awgatie)
B)VSCQQQ_ Og A
4) S)—ué-} vp D O }s CIJ D rs Pom'-}iv&)
do n ,D) Uns ts (if D OQSQ’}RAL )
2023-11-29 11:27:41 13/15 lesson25 (13/15)



Graph f(x) :Asinx— C))+D A8 20

DRAW AT

Qo MHe

©

2023-11-29 11:27:41 14/15 lesson25 (14/15)



